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6—1. BLEET
1) #f - /IR E &

Hl A T Hl A T
AT | T HITHALET e Tavs | B 7T HITHALET e
J(E kg 1 kg
EXY! FAHTG3
G1(GE1~J1) 1 4, 117 G3(GE1~J1) 1 4,014
G1(J1) 0 220 G3(J1) 0 195
G1(J1~J2) 1 4,197 | 550t | 13,537 | [63(J1~]J2) 1 4,161 | 550t | 12,854
G1(J2) 0 195 G3(J2) 0 175
G1(J2~7J3) 1 4, 808 G3(J2~J3) 1 4, 309
G1(J3) 0 194 G3(J3) 0 175
G1(J3~J4) 1 2,991 G3(J3~J4) 1 2,970
G1(J4) 0 205 G3(J4) 0 169
G1(J4~J5) 1 3,919 | o 17,610 G3(J4~J5) 1 4,009 | o 16, 241
G1(J5) 0 191 G3(J5) 0 173
G1(J5~J6) 1 3, 294 G3(J5~J6) 1 3,011
G1(J6) 0 238 G3(J6) 0 171
G1(J6~J7) 1 6,578 G3(J6~J7) 1 5, 563
G1(J7) 0 240 G3(J7) 0 155
G1(J7~J8) 1 4,610 G3(J7~J8) 1 4, 191
G1(J8) 0 308 G3(J8) 0 ICH 14, 533
G1(J8~J9) 1 4,767 | oo 16, 693 G3(J8~J9) 1 4, 553
G1(J9) 0 334 G3(J9) 0 282
G1 (J9~GE2) 1 5, 830 G3 (J9~GE2) 1 5, 104
G5(C19~]) 0 257 TH764
G6 (C20~17) 0 347 G4 (GE1~J1) 1 3,916
TAHTG2 G4(J1) 0 163
G2 (GE1~J1) 1 4, 030 G4(J1~J2) 1 3,994 | 550t | 12,757
G2(J1) 0 195 G4 (J2) 0 175
G2(J1~J2) 1 4,161 | 550t | 12,934 | [c4(J2~]3) 1 4, 509
G2(J2) 0 175 G4 (J3) 0 175
G2 (J2~7J3) 1 4, 373 G4 (J3~J4) 1 2, 880
G2(J3) 0 175 G4 (J4) 0 171
G2 (J3~J4) 1 2,969 G4 (J4~J5) 1 3,918 | .. 16, 874
G2 (J4) 0 169 G4 (J5) 0 175
G2 (J4~J5) 1 4,009 | o 16, 157 G4 (J5~J6) 1 3,074
G2 (J5) 0 173 G4 (J6) 0 256
G2 (J5~J6) 1 3,011 G4 (J6~J7) 1 6, 225
G2(J6) 0 169 G4 (J7) 0 183
G2(J6~J7) 1 5, 482 G4 (J7~]8) 1 4,174
G2(J7) 0 208 G4 (J8) 0 214
G2(J7~J8) 1 4, 342 G4 (J8~J9) 1 4,275 | 360t | 14,602
G2(J8) 0 279 | 4uos 14, 823 G4 (J9) 0 277
G2 (J8~J9) 1 4, 508 G4 (J9~GE2) 1 5, 140
G2(J9) 0 287 G7(C20~7) 0 339
G2 (J9~GE2) 1 5, 199
FAHGT
FH7G5 G7(J) 0 140 | oo 1 817
G5 (J) 0 145 360t | 3,354 G7(J~GE2) 1 1,677
G5 (J~GE2) 1 3, 209
FH1G6 550t /BR[| HikE | 118,964 | A& | 118, 964
G6 (J) 0 145 | oo | 1 786 360t /NEF | HiRE| 60,651 | KB | 67,608
G6 (J~GE2) 1 1,641 ’ /R HiFH | 179,615 | #&H1A | 186, 572




6) HEIAFE & BT - xS
A T A B
Tavs | B | 7T HITHALET e Tavs | B 7T HITHALET e
J(E kg 1 kg
Uit s, AT Hp ] e AR
S1LARI7" 70y 1 58 C1(G1~G2) 1 118
S1(G1~G2) 0 664 | . 2. 050 C1(62~G3) 0 118
S1(62~G3) 1 664 C1(63~G4) 1 118
S1(G3~G4) 0 664 €2 (61~G2) 0 119
S2(G5~G6) 1 841 €2 (62~G3) 1 119
S2(G6~G1) 0 764 C2(G3~G4) 0 120
S2(G1~G2) 1 804 €4 (G1~G2) 1 122
S2(62~G3) 0 804 | 360t 4,786 | [c4(62~G3) 0 122
S2(63~G4) 1 804 €4 (6G3~G4) 1 122
S2(64~G7) 0 664 C5(G1~G2) 0 122
S2 (RIS 74y 1 105 €5 (62~G3) 1 122
oS AT C5(G3~G4) 0 121
P1(G1~G2) 1 1,402 €6 (G1~G2) 1 122
P1(6G2~G3) 0 1,381 €6 (G2~G3) 0 122 | 550t 3, 274
P1(G3~G4) 1 1,402 | o 8. 363 €6 (G3~G4) 1 123
P2 (G1~G2) 0 1, 400 C8(G1~G2) 0 122
P2 (G2~G3) 1 1,379 €8 (62~G3) 1 122
P2 (G3~G4) 0 1, 399 C8(G3~G4) 0 122
Sy BB T €10 (G1~G2) 0 122
C3(61~G2) 1 614 €10 (62~G3) 1 122
€3 (62~G3) 0 756 €10 (G3~G4) 0 122
C3(G3~G4) 0 621 €12 (G1~G2) 1 122
C7(G1~G2) 1 614 €12 (G2~G3) 0 122
C7(6G2~G3) 0 737 C12(G3~G4) 1 122
C7(6G3~G4) 0 613 | .., 7 883 C13(G1~G2) 0 122
€9 (G1~G2) 1 614 €13 (62~G3) 1 122
€9 (62~G3) 0 737 €13 (G3~G4) 0 122
€9 (G3~G4) 1 613 C15(G1~G2) 1 122
C11(G1~G2) 0 614 C15(G2~G3) 0 122
C11(G2~G3) 1 737 C15(G3~G4) 1 122
C11(G3~G4) 0 613 €17 (G1~G2) 0 122
C14(G1~G2) 1 614 C17(G2~G3) 1 122 | 360t 1, 098
€14 (G2~G3) 0 737 C17 (G3~G4) 0 122
€14 (G3~G4) 1 613 C18(G1~G2) 1 122
€16 (G1~G2) 0 614 C18(G2~G3) 0 122
€16 (G2~G3) 1 735 C18(G3~G4) 1 122
€16 (G3~G4) 0 612 R
€19 (G1~G2) 1 685 | 360t 8,475 | |S1~P1 2,640 | ., 6. 582
€19 (G2~G3) 0 737 P1~P2 3, 942
€19 (G3~G4) 1 541 P2~S2 3,778 | 360t 3,778
€20 (G5~G1) 0 481
€20 (G1~G2) 1 685
€20 (G2~G3) 1 737
€20 (G3~G4) 1 684
550t /hNEF | HbgE 0 | iR | 28,152
360t /NG| HikA 0 | #&IK| 18,137
/Nt HIHH 0 | ik [ 46,289




6) fEAREE PKEE - AR - ED
Hl A T Hl A T
Tuys | | T HHEET e Tuyy | | T HHEET e
1 kg 18l kg
B LS RES TR AR
277" b vy 0 27 AWKk 1 (B) 0 18
Huft 4 B (B1) 0 98 SRR (K-1) 0 373
Hufsh4 B (B4) 0 9 HAJER (K-2) 0 1,164
B4 H (S 0 7 HAJER (K-3) 0 172 | | 348
B4 B.(S2) 0 66 AR (K-4) 0 386
B it 4 B (S4) 0 7 HRJEE (K-5) 0 378
A4 B (K1) 0 39 |, RJER (K-6) 0 367
&G | 0 o et A e o
A4 B (B2) 0 24 RJER (K-8) 0 (e
Huft 4 B (B3) 0 104 ﬂ%)ﬁﬁ(K—w 0 389 260+ 0. 668
Buff 4B (S3) 0 150 HAJER (K-10) 0 184
Hufh4x 2 (K3) 0 36 SRR (K-11) 0 253
Hfof 4 B (K4) 0 3 HAJER (K-12) 0 294
i T AR 0 26 F-BERS 1 (A) 0 33 | 550t 33
e -FERE1- (C) 0 33 | 360t 33
Buf 4B (S) 0 18 |44t 18 | [Huft4E(P1) 0 33 [ oo 9
Huft 4 B (P2) 0 66
T4 B (S2) 0 37 | 360t 37
Hift4 B (c7-9-1) | 0 126 | 550t 126
Huft4s E (C14) 0 42
A4 E.(c16)| 0 42
& (C19)] 0 12 ] 2o 168
A4 5. (c20)| 0 42
Hfsh 4 L (0648 10) 0 105 550t 175
It A (C12-13) 0 70
Buft4H.(C15)| 0 35
B4 B (C17)] 0 34 | 360t 103
Huft 4 E (C18) 0 34
T ES AR A
P2ARJER 0 684
P2A7y7" 0 16
P EEGD | 0 ss | 20t B
P23 (B2) 0 44
550t /it | HiRE 0 | fafk| 4,723
360t /iR | HuE 0 [ #i& [ 3,009
s peich 0| /i | 7,732
550t ARk | HikE | 118,964 | A& | 151, 839
360t & Ft | HukE| 60,651 | KGR | 88,754
R HiFH | 179, 615 | f&1A | 240, 593




2) MEARE

=

B
N T8 E & T 232,861 kg
(p=t7] 8,349 kg
FERHEAK -599 kg
TERHEK -18 kg
aEt 240, 593 kg
3) FMTEE
FAMT KU & 155,477 kg
ANRIRE R 31,095 kg
At 186,572 kg
4) FMREREIEK
M E GHAE &) HAAZ : ton
) © ® FAMT
GE1~]J3 J3~J7 J7~GE2 ZRER AL
G1 13.6 17.7 16.7 3
G2 13.0 16.2 14.9 3
G3 12.9 16.3 14.6 3
G4 12.8 16.9 14.7 3
G5 3.4 1
G6 1.8 1
G7 1.9 1
aEt 119. 4 68.0 15
(0. 64) (0. 36)
ZRER[EEAER
550tCR — M+@ 8 [
360tCR — 7 A
5) AkEDARNL A
ML THRVE M22 A 14,156 &
&5t 14,156 A

RFEDHRIE ¢ 22mm

RUZREY ¢ 24.5X 150mm

14,156 X1/3X2/3

14,156 X1/3X

1/3

1l

3,146 A
1,573 &



1 H SRR REs AR
ARGS #0877 7 N0 = L3k W=327. 9kg/{# e 4
PURGEIN 8372 7 A0 = 537k W=803. 6kg/1# P8 4
= 1 HES P2EE $h T 7‘7\@ = 1K W=801. lkg/{# i 1
MBS 877 7 N0 25 FHKAK W=402. 8kg/fH P8 4
AKER TR0 = L7k W=236. Okg/{H H 3
APRRPEE | BEIUE £ L 2 L m° 1. 46
1. SRR
AlfEH W7 AN T LKIK 790kN W = 327.9 kg/f# 4 A&
PG LA AN = NN 1890kN W = 803.6 kg/f 4 A
P24 A AN = W 2400kN W = 801.1 kg/f# 4 A&
AKBH LA RN = NN 1040kN W = 402.8 kg/f# 4 A
A2 TR T AIIK 780kN W = 236.0 keg/f# 3 &
2. EVHEE LA L
AKEBE T TN T K
V1= 015 % /4 X X 049 X 4 = 0.035
V2= 064 X 064 X 007 —
0.54 X 0.54 X 0.0l = 0.026
V= (003 + 0026 ) x 4 = 0.24 n’
P1AE 4! T N T LK
V1= 018 2 /4Xx x 05 X 4 = 0.060
V2= 0.8 X 0.8 X 007 —
0.76 X 0.76 X 0.01 = 0.048
V= ( 0060 + 0.048 ) X 4 = 0.43 n’
P2AE A T AN T LI
V1= 018 2 /4Xx X 0.5 X 4 = 0.056
V2= 0.8 X 0.8 X 007 —
0.76 X 0.76 X 0.01 = 0.048
V= ( 0056 + 0.048 ) X 4 = 0.42 n’
A2fBE (AN = VN 3
V1= 015 % /4 X X 049 X 4 = 0.035
V2= 069 X 069 X 007 —
0.59 X 0.59 X 0.0l = 0.030
V= (003 + 003 ) x 4 = 0.26 n’
A2fBE TR T AIK
V1= 015 % /4 Xz X 029 X 4 = 0.020
V2= 054 X 054 X 007 —
0.44 X 0.44 X 0.0l = 0.018
V= (002 + 0018 ) x 3 = 0.11 n’

V= 1.46 p’
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1) =237 (NR+SS400+SM490A+Pb)

EUNENT
0.420 X 0.420 X
0.101 "2) n / 4 X
0.016 "2) n / 4 X

AR A FE
0.400 X  0.400 X
0.101 "2) n / 4 X
0.016 "2) n / 4 X
0.060 "2) n / 4 X
EnATE
0.060 "2) = / 4 X
= RNVN T
0.0284 — 0.0098 —
0.0168
0. 0098
0.0018
2) b4 (SM490A)
0.460 X  0.460 X
0.026 "2) n / 4 X
0.018 "2) n / 4 X
0.024 "2) n / 4 X
0.101 "2) n / 4 X
3) T (SM490A)
0.520 X  0.520 X
0.026 "2) n / 4 X
0.018 "2) n / 4 X
0.101 "2) n / 4 X
0.018 "2) n / 4 X

4) _R—27 L — | (SM490A)
0.540 X  0.540 X
0.030 "2) n /4 X
0

016 "2) n© /4 X

5) 7y h—R/Lk (SD345)
32 X 475
6.23 X 0.475

6) AW — (1) (SM490A)
0.100 "2) n / 4 X

7) AW —(2) (SM490A)
0.100 "2) n / 4 X

o O

O O O O

0.

O OO OO O OO OO

o

. 036
. 028
. 008
. 036
. 036

. 028
. 020
. 008
.015
. 028

. 032
. 032
.014

. 163
.018
. 017

. 069
.016
.015
. 069

163

0.0018

X X X X X X X X X X X X X

X X X

. 069 X

. 032 X

1500
7850
11300

7850
—7850
—7850
—7850
—7850

7850
—7850
—7850
—7850
—7850

7850
—7850
—7850

7850

7850

X X X

X X X X

X X X X

X

X

. 0288 m3
. 0003 m3
. 0001 m3
. 0284 m3

.0110 m3
. 0003 m3
. 0001 m3
. 0008 m3
. 0098 m3

. 0018 m3

. 0168 m3

25.2 kg
76.9 kg
20. 3 kg
122. 4 kg

59. 8 kg
-1.9 kg
-0. 3 kg
-0.5 kg
-2.3 kg
54. 8 kg

59. 4 kg
-1.3 kg
-0. 3 kg
-0.9 kg
-1.1 kg
55. 8 kg

73.2 kg
-0.7 kg
-0.4 kg
72.1 kg

11.8 kg

4.3 kg

2.0 kg



8) NATVSIHRNL N BRAEXSY12.9)
M16 X 25 N = 32 A

0.08 X 32 = 2.5 kg
9) AR~ (FREXSS.8)
M16 X 45 N = 20 A
( 0.1 + 0.011 ) X 20 = 2.2 kg
10) v FARA R (BREXSYS. 8)
M24 X L N = VWVN
Al G N= 4
1) =3k 122.4 X 4 = 489. 6 kg
2) kA 54.8 X 4 = 223. 2 kg
3) T# 55.8 X 4 = 219. 2 kg
4) A =27 V=) 72.1 X 4 = 288. 4 kg
5) 7/h—K Wb 11.8 X 4 47.2 kg
6) B AWF-(1) 4.3 X 4 17. 2 kg
7) EAWE-(2) 2.0 X 4 8.0 kg
8) N UATR b 2.5 X 4 10. 0 kg
9) ANMK V) 2.2 X 4 8.8 kg
10) ty & Wb 4 X 4 = 16 A&
13Ny = 327.9 kg

Y=g 1311. 6 kg
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1) =237 (NR+SS400+SM490A+Pb)

EUNENT
0.620 X 0.620 X
0.151 "2) n / 4 X
0.016 "2) n / 4 X

AR A FE
0.600 X  0.600 X
0.151 "2) n / 4 X
0.016 "2) n / 4 X
0.090 "2) n / 4 X
EnATE
0.090 "2) = / 4 X
= RNVN T
0.0662 — 0.0252 —
0. 0366
0. 0252
0. 0044
2) b4 (SM490A)
0.660 X 0.660 X
0.026 "2) n / 4 X
0.018 "2) n / 4 X
0.027 "2) n / 4 X
0.1561 "2) n / 4 X
3) T (SM490A)
0.740 X  0.740 X
0.026 "2) n / 4 X
0.018 "2) n / 4 X
0.1561 "2) n / 4 X
0.022 "2) n / 4 X
4) R_X—27L— | (SM490A)
0.760 X 0.760 X
0.048 "2) n / 4 X
0.020 "2) n / 4 X

5) 7y h—R/Lk (SD345)
51 X 590
15.9 X 0.590

6) AW — (1) (SM490A)
0.150 "2) n / 4 X

7) AW —(2) (SM490A)
0.150 "2) n / 4 X

o O

O O O O

0.

O OO OO O OO OO

o

. 040
. 032
. 008
. 040
. 040

. 028
. 020
. 008
.015
. 028

. 045
. 045
.019

. 174
.018
. 017

. 078
.016
.015
. 078

174

0. 0044

X X X X X X X X X X X X X

X X X

. 073 X

. 032 X

1500
7850
11300

7850
—7850
—7850
—7850
—7850

7850
—7850
—7850
—7850
—7850

7850
—7850
—7850

7850

7850

X X X

X X X X

X X X X

X

X

0. 0669 m3
—-0. 0006 m3
—-0. 0001 m3

0. 0662 m3

0.0279 m3
—0. 0006 m3
—-0. 0001 m3
-0. 0020 m3

0.0252 m3

0. 0044 m3
0. 0366 m3

54.9 kg
197.8 kg
49.7 kg
302. 4 kg

136. 8 kg
-2.7 kg
-0. 3 kg
-1.4 kg
-5.6 kg

126. 8 kg

120. 4 kg
-1.7 kg
-0. 3 kg
-2.1 kg
-1.7 kg

114. 6 kg

204. 0 kg
-2.6 kg
-0.9 kg

200. 5 kg

37.5 kg

10. 1 kg

4.4 kg



8) NATVSIHRNL N BRAEXSY12.9)
M16 X 25 N = 40 A

0.08 X 40 = 3.1 kg
9) AR~ (FREXSS.8)
M20 X 50 N = 20 A
( 0.19 + 0.02 ) X 20 = 4.2 kg
10) v FARL b BREFIXSS. 8)
M27 X L N = 8 K
P1 G N= 4
1) AR 302.4 X 4 = 1209. 6 kg
2) kA 126.8 X 4 = 458. 4 kg
3) T# 114.6 X 4 = 507. 2 kg
4) N =x7° b=} 200.5 X 4 = 802. 0 kg
5) 7/h—K Wb 37.5 X 4 = 150. 0 kg
6) HAME-(1) 10.1 X 4 = 40. 4 kg
7) EAWF-(2) 4.4 X 4 = 17. 6 kg
8) NAITAE VI 3.1 X 4 = 12. 4 kg
9) NAK W 4.2 X 4 = 16. 8 kg
10) ty MR b 8 X 4 = 32 A
13Ny = 803. 6 kg

WER = 3214. 4 kg
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1) =237 (NR+SS400+SM490A+Pb)

EUNENT
0.620 X 0.620 X
0.151 "2) n / 4 X
0.016 "2) n / 4 X

AR A FE
0.600 X  0.600 X
0.151 "2) n / 4 X
0.016 "2) n / 4 X
0.090 "2) n / 4 X
EnATE
0.090 "2) = / 4 X
= RNVN T
0.0662 — 0.0252 —
0. 0366
0. 0252
0. 0044
2) b4 (SM490A)
0.660 X 0.660 X
0.026 "2) n / 4 X
0.018 "2) n / 4 X
0.027 "2) n / 4 X
0.1561 "2) n / 4 X
3) T (SM490A)
0.740 X  0.740 X
0.026 "2) n / 4 X
0.018 "2) n / 4 X
0.1561 "2) n / 4 X
0.022 "2) n / 4 X
4) R_X—27L— | (SM490A)
0.760 X 0.760 X
0.048 "2) n / 4 X
0.020 "2) n / 4 X

5) 7y h—R/Lk (SD345)
51 X 550
15.9 X 0.550

6) AW — (1) (SM490A)
0.150 "2) n / 4 X

7) AW —(2) (SM490A)
0.150 "2) n / 4 X

o O

O O O O

0.

O OO OO O OO OO

o

. 040
. 032
. 008
. 040
. 040

. 028
. 020
. 008
.015
. 028

. 045
. 045
.019

. 174
.018
. 017

. 078
.016
.015
. 078

174

0. 0044

X X X X X X X X X X X X X

X X X

. 073 X

. 032 X

1500
7850
11300

7850
—7850
—7850
—7850
—7850

7850
—7850
—7850
—7850
—7850

7850
—7850
—7850

7850

7850

X X X

X X X X

X X X X

X

X

0. 0669 m3
—-0. 0006 m3
—-0. 0001 m3

0. 0662 m3

0.0279 m3
—0. 0006 m3
—-0. 0001 m3
-0. 0020 m3

0.0252 m3

0. 0044 m3
0. 0366 m3

54.9 kg
197.8 kg
49.7 kg
302. 4 kg

136. 8 kg
-2.7 kg
-0. 3 kg
-1.4 kg
-5.6 kg

126. 8 kg

120. 4 kg
-1.7 kg
-0. 3 kg
-2.1 kg
-1.7 kg

114. 6 kg

204. 0 kg
-2.6 kg
-0.9 kg

200. 5 kg

35.0 kg

10. 1 kg

4.4 kg



8) NATVSIHRNL N BRAEXSY12.9)
M16 X 25 N = 40 A

0.08 X 40 = 3.1 kg
9) AR~ (FREXSS.8)
M20 X 50 N = 20 A
( 0.19 + 0.02 ) X 20 = 4.2 kg
10) v FARL b BREFIXSS. 8)
M27 X L N = 8 K
P2 G N= 4
1) AR 302.4 X 4 = 1209. 6 kg
2) kA 126.8 X 4 = 458. 4 kg
3) T# 114.6 X 4 = 507. 2 kg
4) N =x7° b=} 200.5 X 4 = 802. 0 kg
5) 7/h—K Wb 35.0 X 4 = 140. 0 kg
6) HAME-(1) 10.1 X 4 = 40. 4 kg
7) EAWF-(2) 4.4 X 4 = 17. 6 kg
8) NAITAE VI 3.1 X 4 = 12. 4 kg
9) NAK W 4.2 X 4 = 16. 8 kg
10) ty MR b 8 X 4 = 32 A
13Ny = 801. 1 kg

MEE = 3204. 4 kg



K
A

b

I}

~

Do

k=i

E=N
==X

(
(

(
(
(

(

NN AN AN

N AN AN N

(

R E

1) =237 (NR+SS400+SM490A+Pb)

EXUNENT
0.470 X 0.470 X
0.101 "2) n / 4 X
0.016 "2) n / 4 X

AR A FE
0.450 X  0.450 X
0.101 "2) n / 4 X
0.016 "2) n / 4 X
0.0656 "2) n / 4 X
EnATE
0.065 "2) = / 4 X
= RNVN T
0.0356 — 0.0126 —
0. 0208
0.0126
0. 0022
2) b4 (SM490A)
0.510 X 0.510 X
0.026 "2) n / 4 X
0.018 "2) n / 4 X
0.024 "2) n / 4 X
0.101 "2) n / 4 X
3) T (SM490A)
0.570 X  0.570 X
0.026 "2) n / 4 X
0.018 "2) n / 4 X
0.101 "2) n / 4 X
0.018 "2) n / 4 X
4) _X—27L— | (SM490A)
0.590 X  0.590 X
0.033 "2) n / 4 X
0.016 "2) n / 4 X

5) 7y h—R/Lk (SD345)
35 X 480
7.51 X 0.480

6) AW — (1) (SM490A)
0.100 "2) n / 4 X

7) AW —(2) (SM490A)
0.100 "2) n / 4 X

o O

O O O O

0.

O OO OO O OO OO

o

. 036
. 028
. 008
. 036
. 036

. 028
. 020
. 008
.015
. 028

. 032
. 032
.014

. 163
.018
. 017

. 069
.016
.015
. 069

163

0. 0022

X X X X X X X X X X X X X

X X X

. 069 X

. 032 X

1500
7850
11300

7850
—7850
—7850
—7850
—7850

7850
—7850
—7850
—7850
—7850

7850
—7850
—7850

7850

7850

X X X

X X X X

X X X X

X

X

. 0360 m3
. 0003 m3
. 0001 m3
. 0356 m3

. 0139 m3
. 0003 m3
. 0001 m3
. 0009 m3
. 0126 m3

. 0022 m3

. 0208 m3

31.2 kg
98.9 kg
24.9 kg
155.0 kg

73.5 kg
-1.9 kg
-0. 3 kg
-0.5 kg
-2.3 kg
68. 5 kg

71. 4 kg
-1.3 kg
-0. 3 kg
-0.9 kg
-1.1 kg
67.8 kg

87.4 kg
-0.9 kg
-0.4 kg
86. 1 kg

14.4 kg

4.3 kg

2.0 kg



8) NATVSIHRNL N BRAEXSY12.9)
M16 X 25 N = 32 A

0.08 X 32 = 2.5 kg
9) AR~ (FREXSS.8)
M16 X 45 N = 20 A
( 0.1 + 0.01 ) X 20 = 2.2 kg
10) v FARL b BREFIXSS. 8)
M24 X L N = VWVN
A2 G N= 4
1) AR 155.0 X 4 = 620. 0 kg
2) kA 68.5 X 4 = 271.2 kg
3) T# 67.8 X 4 = 274. 0 kg
4) A =27 V=) 86.1 X 4 = 344. 4 kg
5) 7/h—K Wb 14.4 X 4 57.6 kg
6) B AWF-(1) 4.3 X 4 17. 2 kg
7) EAWE-(2) 2.0 X 4 8.0 kg
8) N UATR b 2.5 X 4 10. 0 kg
9) ANMK V) 2.2 X 4 8.8 kg
10) ty & Wb 4 X 4 = 16 A&
13Ny = 402. 8 kg
WHE = 1611. 2 kg



ﬁ%ﬁ T
2-FEHT
1) =234 (CR+SS400+PTFE)

0.410 X 0.320 X
0.410 X 0.320 X
0.390 X 0.300 X
0.390 X 0.300 X
0.051% X /4 X
0.051% X /4 X

2) 4% (SM490A+SUS316)

0.900 X 0.750 X
0.900 X 0.714 X
0.860 X 0.710 X

0.016% X 7.4 X

3) T (SM490A)
0.440 X 0.350 X
0.022% X 7 /4 X
0.051% X /4 X

4) 7 H—RL b (SD345)
D25 X 270
3.98 X

5) AW —(S5400)
0.050° X &4 X

6) v FARL N GREXSS. 8)
M6 X L

13540

1) T ALK

2) k&

3) &

4) T —ARL b
5) AW —

6) v hARL b

OO OO OO

OO OO

o O

0.

. 087
. 001
. 036
. 036
. 002
.011

. 028
. 002
. 004
. 028

. 025
. 025
.010

. 270

022

X X X X X X

X X X X

X X X

X

1500
2300
7850
-1500
-1500
—7850

7850
—7850
7980
—7850

7850
—~7850
—7850

7850 X

43.
157.
29.

—

4 A

NS IEN I RN |

Kt

X X X X X X

3
JIISPIIS
SS

7

W W W www

17. 12 kg
0.30 kg
32.70 kg
-6.25 kg
0.00 kg
-0. 18 kg
43.7 kg

148. 4 kg
-10.1 kg
19.5 kg
-0.2 kg
157.6 kg

30. 2 kg
-0. 3 kg
-0.2 kg
29.7 kg

4.3 kg

0.7 kg

131.1 kg
472. 8 kg
89.1 kg
12.9 kg
2.1 kg
12 K

236.0 kg
708. 0 kg



6—3. RET

HH FRAE - ~Hk BALT $o
SR a1 RA TR, ENREL Skl E m’ 1184
x> b T m’ 963
- el T
i B X5y ZRER R, KRhRESs, BIGIE 2y ()
SE SRR IX Sy RS TR
RERR 1. 5mEL |k
Al = 10.00 X 115.00 = 1150.0 2
A2 = 0.946  (CADEHH)) = 0.9 p
A3 = 23.715  (CADE|HD = 23.7 n?
M = 8.983  (CADEHHI) = 9.0
A = 1183.6 p?
115000
9527 280
A [P | RS
g g i g g 5 Eh
i A4-8. 983m" © E‘
- BT
Al = 10.00 X 93.00 = 930.0 p?
A2 - - - - m2
A3 = 23.715  (CADEHH) = 23.7 n
AM 8.983  (CADEHHID) = 9.0 p?
A = 962.7 p?
AER:
O = Al~P1 = 10.0
® = Pl~P2 = 41.5
® = P2~A2 = 41.5

= 93.0 m




